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1101[XK1E EE 50 500 0 500 10 0 0 0 972 0 594
EE 47 705 0 705 15 0 0 0 918 0 594
GhH 117 1405 0 1405
1103[ M35 mE 25 250 0 250 10 0 0 0 2700 0 1728
(&) 25 250 0 250
1141|5848 me 4 20 0 20 5 0 0 0 2700 0 1080
GhH 4 20 0 20
12018 TRk 50 750 0 750 15 0 0 0 3132 0 2808
ZH 45 675 0 675 15 0 0 0 3110 0 2970
& 215 3225 0 3225
1203[F ¥Ry [EH 42 420 0 420 10 0 0 0 1944 0 1836
EE 66 660 0 660 10 0 0 0 2052 0 1296
GhH 108 1080 0 1080
1205|[F5NAE [EE 655 262 262 0 0.4 184 0 140 0 0 0
#mE 10 40 0 40 4 0 0 0 0 2484 0
12 hel 600 120 0 120 0.2 0 0 0 0 124 0
(&) 1265 422 262 160
1207| B & EE 360 36 36 0 0.1 0 97 0 0 0 0
(&) 360 36 36 0
1209| 5% B 14 42 0 42 3 0 0 0 0 1836 0
(&) 14 42 0 42
1301[#aF S 30 60 0 60 2 0 0 0 1296 0 864
= E 200 60 0 60 0.3 0 0 0 0 135 0
=0 22 110 0 110 5 0 0 0 2592 0 2268
(&) 252 230 0 230
1311[FRE BEX 75 300 0 300 4 0 0 0 1188 0 1080
(&) 75 300 0 300
1321 [8R S 88 440 0 440 5 0 0 0 2808 0 2592
=40 72 360 0 360 5 0 0 0 2808 0 2484
=I5 20 100 0 100 5 0 0 0 3132 0 2808
(&) 180 900 0 900
1351[E—<> |55 540 81 0 81 0.15 0 0 0 113 0 108
(&) 540 81 0 81
1403| e T oL 25 50 0 50 2 0 0 0 2160 0 1944
(&) 25 50 0 50
1521 | B3 iz 5 50 0 50 10 0 0 0 0 5724 0
(&) 5 50 0 50
1541 | £ & dLiEE 63 1260 0 1260 20 0 0 0 0 2538 0
(&) 63 1260 0 1260
1603[ L) —  [EE 6 60 0 60 10 0 0 0 3888 0 2700
(&) 6 60 0 60
16097 avaly  [&J 20 120 0 120 6 0 0 0 4536 0 4104
(&) 20 120 0 120
1627|3=F<F  [EBEX 24 72 0 72 3 0 0 0 2052 0 1944
(&) 317 125 0 125
1705| A= =0 270 22 0 22 0.08 0 0 0 0 108 0
= H 3 12 0 12 4 0 0 0 0 5616 0
Gh 273 34 0 34
1803 | E =) 150 15 0 15 0.1 0 0 0 0 141 0
e 180 36 0 36 0.2 0 0 0 260 0 66
(&) 1050 123 0 123
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1807 (8 & f=32 250 25 0 25 0.1 0 0 0 0 53 0
EF 3180 636 0 636 0.2 0 0 0 92 0 76
GhH 3430 661 0 661
1809[L&HL EF 450 45 0 45 0.1 0 0 0 0 69 0
% 660 132 0 132 0.2 0 0 0 119 0 103
& 1110 177 0 177
* S FEET * 17755 19176 596 18580
2113[/R>hY [ED) 22 185 0 185
2115(% =TI LB 20 200 0 200 10 0 0 0 5616 0 5076
& 20 200 0 200
22218 £ g 48 480 0 480 10 0 0 0 0 5184 0
& 48 480 0 480
2225 E# g 5 50 0 50 10 0 0 0 0 5400 0
& 5 50 0 50
2811 | & fa 20 5 0 5 0.25 0 0 0 875 0 821
Fi& 40 10 0 10 0.25 0 0 0 0 443 0
EES 100 25 0 25 0.25 0 0 0 0 497 0
(&) 160 40 0 40
2823 % —« L 5 50 0 50 10 0 0 0 0 6912 0
[E)) 5 50 0 50
* M FEET * 498 1825 0 1825




